
৩৮ তম             -      ম        

১। 

                              ? 

(ক) 

    য 

(খ) 

    জ 

(গ) 

    য 

(ঘ) 

   ন 

     খ।     জ 

২। 

       ত              ? 

(ক) 

জ        

(খ) 

        

(গ) 

 গ    ত 

(ঘ) 

 ক  ত 

     ঘ।  ক  ত 

৩। 

                ত  ম               ? 

(ক) 
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(খ) 

    

(গ) 

    

(ঘ) 

     

     গ।     

৪। 

‘    ’                আ ত   ? 

(ক) 

ত  ক  

(খ) 

    ত 

(গ) 

     

(ঘ) 

       

     ক। ত  ক  

৫। 

‘Null and Void’-                         ? 

(ক) 

        

(খ) 

   ত  

(গ) 

       

(ঘ) 

 ন   ক ষ 
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     খ।    ত  

৬। 

                ? 

(ক) 

       ন 

(খ) 

       ন 

(গ) 

       ন 

(ঘ) 

       ন 

     ক।        ন 

৭। 

‘    ’               ? 

(ক) 

   -তৎ   

(খ) 

তৎ   

(গ) 

     

(ঘ) 

       

     ক।    -তৎ   

৮। 

‘   ’               ত- ত          ? 

(ক) 

 +∙  + আ 

(খ) 
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 ৎ+ ∙  +আ 

(গ) 

 ৎ+∙  + +আ 

(ঘ) 

 +∙  +আ 

     গ।  ৎ+∙  + +আ 

৯। 

‘        ’       ম           ? 

(ক) 

       

(খ) 

ক       

(গ) 

         

(ঘ) 

তৎ   ষ 

     ঘ। তৎ   ষ 

১০। 

‘    ’       ম              ? 

(ক) 

     

(খ) 

   ক 

(গ) 

   ন 

(ঘ) 

    

     খ।    ক 
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১১। 

‘ ’                    ত       ? 

(ক) 

ক +ষ 

(খ) 

ষ +  

(গ) 

  +  

(ঘ) 

  +  

     গ।   +  

১২। 

‘       ত’                         ? 

(ক) 

    + জ ত 

(খ) 

 ৎ+জ ত 

(গ) 

     + জ ত 

(ঘ) 

   + জ ত 

     ক।     + জ ত 

১৩। 

‘   ’           ত              ? 

(ক) 

ত ক ত 

(খ) 

গ   
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(গ) 

    

(ঘ) 

    য 

     খ। গ   

১৪। 

        ত- ত       ত          ? 

(ক) 

      

(খ) 

    ক 

(গ) 

        

(ঘ) 

     ই 

     খ।     ক 

১৫। 

                         ? 

(ক) 

আক    

(খ) 

 য গ ত  

(গ) 

আ    

(ঘ) 

আ    

     ঘ। আ    

১৬। 
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      ত ত ‘      ত  ’      ম  ত- 

(ক) 

ন  গ  ত 

(খ) 

       

(গ) 

   গ  ত 

(ঘ) 

       

     ক। ন  গ  ত 

১৭। 

‘        ’          ত   ম            ? 

(ক) 

       

(খ) 

 য      

(গ) 

   ক   য 

(ঘ) 

      ক   য 

     খ।  য      

১৮। 

    ত           ম                             ? 

(ক) 

        

(খ) 

      

(গ) 
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(ঘ) 

ক  নগ  

     গ।       

১৯। 

‘    ত ’   ? 

(ক) 

ন  ক 

(খ) 

    গ ন 

(গ) 

       

(ঘ) 

ক   য 

     ঘ। ক   য 

২০। 

‘       ত’                       ? 

(ক) 

       গ 

(খ) 

       

(গ) 

ক  নগ  

(ঘ) 

        

     খ।        

২১। 

                   আ      ম        ? 
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(ক) 

আ    ত 

(খ) 

আ ক   

(গ) 

আ  জ     

(ঘ) 

আ    ক   

     ক। আ    ত 

২২। 

               ত          ‘ম ত   ’                ? 

(ক) 

আ জ  ন  

(খ) 

  ন    

(গ) 

ন  ক 

(ঘ) 

  ন   

     ঘ।   ন   

২৩। 

          ম           ? 

(ক) 

গ জ            ন  

(খ) 

       গ       খ  ন 

(গ) 

  ক        আ  ন  
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(ঘ) 

            ক    ক   

     গ।   ক        আ  ন  

২৪। 

‘আম                     ত’-            ত    ? 

(ক) 

   ন      

(খ) 

   ন   জ  

(গ) 

  গ   ক ন ই 

(ঘ) 

         ত ত 

     ক।    ন      

২৫। 

ম              ম ত    ত              ? 

(ক) 

 নক       য 

(খ) 

             ক 

(গ) 

 ন ষ       ন 

(ঘ) 

    য       ত  

     খ।              ক 

২৬। 

               ম  ‘   -    ’          ম    ত        ? 

(ক) 
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আগ ন  

(খ) 

 ক    ন  

(গ) 

         

(ঘ) 

        

     গ।          

২৭। 

        ম    ‘   -    ’        ম                 ত   ? 

(ক) 

  ক  

(খ) 

ক ক ত  

(গ) 

  ন 

(ঘ) 

           

     ক।   ক  

২৮। 

                             ? 

(ক) 

  ষ   ন 

(খ) 

  ষক   

(গ) 

  ষ  ন 

(ঘ) 
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  ষ  খ  

     ঘ।   ষ  খ  

২৯। 

‘          ’              ত    ? 

(ক) 

ক জ  আ          

(খ) 

আ     জ  

(গ) 

     ন ক    

(ঘ) 

     ক    

     গ।      ন ক    

৩০। 

‘     ’                 ম ? 

(ক) 

            

(খ) 

আ   ই   ক 

(গ) 

   ন        

(ঘ) 

  ন   গ          

     ক।             

৩১। 

ম              ‘ম      ম         ’      - 

(ক) 

  ন    
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(খ) 

    গ    

(গ) 

  ন   

(ঘ) 

 ন     ন  ক 

     ঘ।  ন     ন  ক 

৩২। 

‘    ’               ? 

(ক) 

           

(খ) 

                ন 

(গ) 

    ন     ক   

(ঘ) 

             ক 

     গ।     ন     ক   

৩৩। 

‘       ’                       ? 

(ক) 

           য 

(খ) 

ক জ  নজ   ই     

(গ) 

      ৎ      ন 

(ঘ) 

     ন    ত ত 
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     ক।            য 

৩৪। 

               ম                   ? 

(ক) 

           

(খ) 

            

(গ) 

     ন     ক   

(ঘ) 

   ক      ত ত 

     ক।            

৩৫। 

 ত      ‘ ম           ’   ম      ত    ? 

(ক) 

   ০ 

(খ) 

   ৫ 

(গ) 

  ৫৯ 

(ঘ) 

     

     ঘ।      

৩৬। 

Who is the author of ‘Man and Superman’? 

(ক) 

G. B. Shaw 

(খ) 

Thomas Hardy 
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(গ) 

Ernest Hamingway 

(ঘ) 

Charles Dickens 

     ক। G. B. Shaw 

৩৭। 

The most famous satirist in English literature is - 

(ক) 

Jonathan Swift 

(খ) 

Alexander Pope 

(গ) 

Joseph Addison 

(ঘ) 

Richard Steel 

     ক। Jonathan Swift 

৩৮। 

What is the plural form of the word ‘louse’? 

(ক) 

louses 

(খ) 

lices 

(গ) 

licess 

(ঘ) 

lice 

     ঘ। lice 

৩৯। 

Choose the correct sentence: 

(ক) 
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He refrained to take any drastic action 

(খ) 

He refrained from taking any drastic action 

(গ) 

He refrained on taking any drastic action 

(ঘ) 

He refrained in taking any drastic action 

     খ। He refrained from taking any drastic action 

৪০। 

Which word is closest in meaning to ‘Franchise’? 

(ক) 

privilege 

(খ) 

utility 

(গ) 

frankness 

(ঘ) 

superficial 

     ক। privilege 

৪১। 

‘Once in a blue moon’ means- 

(ক) 

always 

(খ) 

nearly 

(গ) 

hourly 

(ঘ) 

very rarely 

     ঘ। very rarely 
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৪২। 

‘Jacobean Period’ of Wnglish Literature refers to-- 

(ক) 

1558-1603 

(খ) 

1625-1649 

(গ) 

1649-1660 

(ঘ) 

1603-1625 

     ঘ। 1603-1625 

৪৩। 

A retired officer lives next door. Here, the underlined word in used as a/an: 

(ক) 

Gerund 

(খ) 

adverb 

(গ) 

participle 

(ঘ) 

preposition 

     গ। participle 

৪৪। 

Choose the appropriate preposition in the blank of the following sentence: 

Eight men were concerned ___ the plot. 

(ক) 

at 

(খ) 

with 

(গ) 
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for 

(ঘ) 

in 

     গ। for 

৪৫। 

Fill in the gap with the right tense: 

When water ____ it turns into ice. 

(ক) 

will freeze 

(খ) 

freezes 

(গ) 

would freeze 

(ঘ) 

froze 

     খ। freezes 

৪৬। 

Which one is the correct antonym of ‘frugal’? 

(ক) 

Extraordinary 

(খ) 

spendthrift 

(গ) 

economical 

(ঘ) 

authentic 

     খ। spendthrift 

৪৭। 

Choose the meaning of the idiom- 

‘Take the bull by the horns’. 
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(ক) 

To challenge the enemy with courage 

(খ) 

Force the enemy to submit 

(গ) 

Out of one’s wit 

(ঘ) 

Surrender before the enemy 

     ক। To challenge the enemy with courage 

৪৮। 

Fill in the blank with the correct quantifier. 

I still have ___ money. 

(ক) 

a few 

(খ) 

quite a few 

(গ) 

a little 

(ঘ) 

many 

     গ। a little 

৪৯। 

Select the right compound structure of the sentence: 

“Though he is poor, he is honest”. 

(ক) 

He is poor and honest 

(খ) 

As he is poor, he is honest 

(গ) 

Since he is poor, he is honest 
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(ঘ) 

He is poor but honest 

     ঘ। He is poor but honest 

৫০। 

Where do the following lines occur in? 

“ Alone, alone, all, all alone, 

Alone on a wide, wide sea …..” 

(ক) 

Kubla Khan 

(খ) 

The Rime of the Ancient Mariner 

(গ) 

The Nightingle 

(ঘ) 

The Dungeon 

     খ। The Rime of the Ancient Mariner 

৫১। 

‘For God’s sake hold your tongue, and let me love.’ 

This line is written by - 

(ক) 

John donne 

(খ) 

Emily Dickinson 

(গ) 

T.S. Eliot 

(ঘ) 

Mathew Arnold 

     ক। John donne 

৫২। 

Fill in the blank: 
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Tourists ___ their reservations well in advance if they want or fly to Cox’s Bazar. 

(ক) 

better to had get 

(খ) 

had better to get 

(গ) 

had better got 

(ঘ) 

had better get 

     গ। had better got 

৫৩। 

The sun went down. The underlined word is used here as a/an: 

(ক) 

preposition 

(খ) 

noun 

(গ) 

adverb 

(ঘ) 

conjunction 

     গ। adverb 

৫৪। 

Which one of the following words is in singular form? 

(ক) 

agenda 

(খ) 

oases 

(গ) 

radius 

(ঘ) 
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formulae 

     গ। radius 

৫৫। 

Identify the right passive voice of ‘It is impossible to do this’. 

(ক) 

This is impossible to be done 

(খ) 

Doing this is impossible 

(গ) 

This is must be done 

(ঘ) 

This can’t be done 

     ক। This is impossible to be done 

৫৬। 

Of the following authors, who wrote as epic? 

(ক) 

Jane Mansfield 

(খ) 

William Cowper 

(গ) 

John Milton 

(ঘ) 

William Shakespeare 

     গ। John Milton 

৫৭। 

The literary term ‘euphemism’ means- 

(ক) 

vague idea 

(খ) 

a sonnet 
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(গ) 

wise saying 

(ঘ) 

in offensive expression 

     ঘ। in offensive expression 

৫৮। 

‘Mutton’ is a/an 

(ক) 

Common noun 

(খ) 

Material noun 

(গ) 

Abstract noun 

(ঘ) 

Proper noun 

     খ। Material noun 

৫৯। 

Reading is an excellent habit. Here, the underlined was is a- 

(ক) 

Verbal noun 

(খ) 

Participle 

(গ) 

Gerund 

(ঘ) 

Verb 

     গ। Gerund 

৬০। 

Which one of the following words is an example of a distributive pronoun? 

(ক) 
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either 

(খ) 

such 

(গ) 

that 

(ঘ) 

any 

     ক। either 

৬১। 

Who is not a Victorian poet? 

(ক) 

Mathew Arnold 

(খ) 

Alexander Pope 

(গ) 

Robert Browning 

(ঘ) 

Alfred Tennyson 

     খ। Alexander Pope 

৬২। 

A speech of too many word is called- 

(ক) 

A big speech 

(খ) 

Maiden speech 

(গ) 

An unimportant speech 

(ঘ) 

A verbose speech 

     ঘ। A verbose speech 
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৬৩। 

‘Strike while the iron is hot’ is an example of - 

(ক) 

Noun clause 

(খ) 

Adverbial clause 

(গ) 

Adjective clause 

(ঘ) 

Subordinate clause 

     খ। Adverbial clause 

৬৪। 

The play ‘The Spanish Tragedy’ is written by- 

(ক) 

Thomas Kyd 

(খ) 

Christopher Marlowe 

(গ) 

Shakespeare 

(ঘ) 

Ben Jonson 

     ক। Thomas Kyd 

৬৫। 

Who among the following Indian English writers is a famous novelist? 

(ক) 

Gayatri Chakravorty Spivak 

(খ) 

R. K. Narayan 

(গ) 

Nissim Exekiel 
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(ঘ) 

Kamala Das 

     খ। R. K. Narayan 

৬৬। 

The word ‘Panegyric’ means 

(ক) 

Criticism 

(খ) 

curse 

(গ) 

elaborate praise 

(ঘ) 

high sound 

     গ। elaborate praise 

৬৭। 

Select the correctly spelt word: 

(ক) 

hetarogeneous 

(খ) 

heterogeneous 

(গ) 

hetrogeneous 

(ঘ) 

hetroganeous 

     খ। heterogeneous 

৬৮। 

‘Among’ is a preposition that is used when __ people are involved. 

(ক) 

more then two 

(খ) 
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two 

(গ) 

two or more than two 

(ঘ) 

four only 

     ক। more then two 

৬৯। 

Which period is known as “The golden age of English literature”? 

(ক) 

The Victorian age 

(খ) 

The Elizabethi age 

(গ) 

The Restoration 

(ঘ) 

The Elighteenth Century 

     খ। The Elizabethi age 

৭০। 

Which one in the correct indirect narration? 

“Why have you beaten my dog”? he said to me. 

(ক) 

He demanded me why had I beaten his dog 

(খ) 

He asked me why I have had beaten his dog 

(গ) 

He demanded of me why I had beaten his dog 

(ঘ) 

He enquired me why had I had beaten his dog 

     গ। He demanded of me why I had beaten his dog 

৭১। 
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                                      - 

(ক) 

  জ     

(খ) 

  ন জ    

(গ) 

খ  ন  

(ঘ) 

      

     ঘ।       

৭২। 

       ম            ম         ম আ                 ? 

(ক) 

আক   

(খ) 

     

(গ) 

   জ   ন 

(ঘ) 

     ন 

     খ।      

৭৩। 

  ত                           ১৯৬৬      - 

(ক) 

        ত 

(খ) 

        

(গ) 
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জ   ই     

(ঘ) 

আগ   

     ক।         ত 

৭৪। 

ম                                 ম            ? 

(ক) 

ক    ন     ন    আ   

(খ) 

ত জ    ন আ     

(গ) 

খ ক       ত ক আ     

(ঘ) 

   ই     ক       ন 

     ঘ।    ই     ক       ন 

৭৫। 

           ত                  আ             - 

(ক) 

  জ  ত তত ত   

(খ) 

        কত  

(গ) 

       জ ত  ত     

(ঘ) 

     জক   তন  

     গ।        জ ত  ত     

৭৬। 

১৯৫৪                                               - 
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(ক) 

     ন      ন  

(খ) 

ন                  

(গ) 

     ন                  

(ঘ) 

              ক  জ     ক 

     ঘ।               ক  জ     ক 

৭৭। 

  ম        - 

(ক) 

        

(খ) 

   ন      

(গ) 

  ন জ     

(ঘ) 

খ গ      ত 

     গ।   ন জ     

৭৮। 

   ম                             - 

(ক) 

     ন  জ    

(খ) 

খ গ       জ    

(গ) 

          জ    
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(ঘ) 

       জ    

     ক।      ন  জ    

৭৯। 

            ম আ ম ম     ত           ত    ? 

(ক) 

 ৯ ৪ 

(খ) 

 ৯ ৯ 

(গ) 

 ৯ ২ 

(ঘ) 

 ৯৯  

     ক।  ৯ ৪ 

৮০। 

            ম                       ত        - 

(ক) 

       ন 

(খ) 

 ন   ত               

(গ) 

  ন   ত               

(ঘ) 

      ত ত   ক   

     ক।        ন 

৮১। 

              তম         ত      - 

(ক) 
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   ন        ক 

(খ) 

         ক  ষ     ক 

(গ) 

         ক 

(ঘ) 

          ক 

     খ।          ক  ষ     ক 

৮২। 

     ত                                                  ম                

          - 

(ক) 

     ২  

(খ) 

     ২  

(গ) 

     ২  

(ঘ) 

        

     গ।      ২  

৮৩। 

               ম        ২০১৭                        ম ত        (  ত       

    ত    )- 

(ক) 

২৯ জন 

(খ) 

৩  জন 

(গ) 

৩০ জন 
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(ঘ) 

২  জন 

     ক। ২৯ জন 

৮৪। 

৭ম                    ম       ত                     ত                     

  ম   : 

(ক) 

 ,০০% 

(খ) 

 , ২% 

(গ) 

 .৩০% 

(ঘ) 

 .৪০% 

     ঘ।  .৪০% 

৮৫। 

২০১৫-১৬                       ম      ত     - 

(ক) 

 .০% 

(খ) 

 .৪ % 

(গ) 

৫.৯২% 

(ঘ) 

 .৪৩% 

     গ। ৫.৯২% 

৮৬। 

                                                    ত    - 

(ক) 

https://3hourbattle.com/sq/3799
https://3hourbattle.com/sq/3799
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ক    

(খ) 

  ক  তক গ    

(গ) 

   ন         

(ঘ) 

   জ  

     খ।   ক  তক গ    

৮৭। 

     ত                      ম ত                ম                 ম       - 

(ক) 

৫     

(খ) 

৩     

(গ) 

৪     

(ঘ) 

      

     ক। ৫     

৮৮। 

                 ত               ম                    - 

(ক) 

           কত        ন   ত           ত      ন 

(খ) 

 ক ন   ই        ত      ন ন  

(গ) 

আইন           ন   ত           ত      ন 

(ঘ) 

https://3hourbattle.com/sq/3802
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 ন    ন ক    ন   ন   ত           ত      ন 

     খ।  ক ন   ই        ত      ন ন  

৮৯। 

                      ? 

(ক) 

        

(খ) 

     ক       ন 

(গ) 

         ৎ 

(ঘ) 

   জ      ষ  

     গ।          ৎ 

৯০। 

আ           মত  - 

(ক) 

জ ত          

(খ) 

আইন          

(গ) 

     ত  

(ঘ) 

  ক     

     ক। জ ত          

৯১। 

 ম         ত                                                            

                 মত      - 

(ক) 

  জ ন তক    

https://3hourbattle.com/sq/3804
https://3hourbattle.com/sq/3805
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(খ) 

          গ 

(গ) 

    ন     গ 

(ঘ) 

         জ 

     ঘ।          জ 

৯২। 

     ত                   ত            ত           তম     - 

(ক) 

২৫     

(খ) 

৪০     

(গ) 

৪৫     

(ঘ) 

৩৫     

     ঘ। ৩৫     

৯৩। 

             ত   আ                    ত    '      ত           ? 

(ক) 

 ২ 

(খ) 

 ৩ 

(গ) 

 ৪ 

(ঘ) 

 ৫ 

https://3hourbattle.com/sq/3807
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     ঘ।  ৫ 

৯৪। 

                               ম                   - 

(ক) 

ত     

(খ) 

      

(গ) 

     ক 

(ঘ) 

   ন     

     গ।      ক 

৯৫। 

                            ? 

(ক) 

  জ ন তক   গ  ন             

(খ) 

          ক আইন    ন     

(গ) 

   জন     ত   ক   

(ঘ) 

    ক  খ ন      ক    ক  ন   গ      

     খ।           ক আইন    ন     

৯৬। 

ম    ম                                  ম   আ   ? 

(ক) 

২    

(খ) 

https://3hourbattle.com/sq/3809
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৩    

(গ) 

৪    

(ঘ) 

৫    

     খ। ৩    

৯৭। 

    ত      ম                   ত   ? 

(ক) 

 ৯৯  

(খ) 

 ৯৯৩ 

(গ) 

২০০  

(ঘ) 

 ৯৯৯ 

     ক।  ৯৯  

৯৮। 

            ত     ম                      ম    ? 

(ক) 

  কন    ষ  

(খ) 

 ন       

(গ) 

   ক    ষ  

(ঘ) 

 ন     ৯ 

     গ।    ক    ষ  

https://3hourbattle.com/sq/3812
https://3hourbattle.com/sq/3813


৯৯। 

              ম   ম      ম    ম                    ম    ম          ? 

(ক) 

Permanent Court of Arbitration 

(খ) 

International Court of Justice 

(গ) 

Permanent Court of Justice 

(ঘ) 

International Tribunal for the Law of the Sea 

     ঘ। International Tribunal for the Law of the Sea 

১০০। 

          ত ম               ম                   আম         ? 

(ক) 

   ত    ক 

(খ) 

  ন    ক 

(গ) 

           ক 

(ঘ) 

জ   ন    ক 

     খ।   ন    ক 

১০১। 

২০২২                        ত     - 

(ক) 

ক ত   

(খ) 

     

(গ) 

https://3hourbattle.com/sq/3814
https://3hourbattle.com/sq/3815
https://3hourbattle.com/sq/3816


    ই 

(ঘ) 

     ন 

     ক। ক ত   

১০২। 

    ম         ত       (  আ    )                           

(ক) 

৪    

(খ) 

৫    

(গ) 

২    

(ঘ) 

৩    

     ঘ। ৩    

১০৩। 

          ত    ম                   ? 

(ক) 

ন       ত   ন 

(খ) 

গ ন    

(গ) 

        

(ঘ) 

       

     ঘ।        

১০৪। 

      ম                            ত         ত                          

(  ,   , আ )            ম     

https://3hourbattle.com/sq/3817
https://3hourbattle.com/sq/3818
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(ক) 

ত  ক  য     

(খ) 

  ত  ন      জ  আ    

(গ) 

    

(ঘ) 

     

     ক। ত  ক  য     

১০৫। 

২০১৫                   ত   -২১    ত      ত         – 

(ক) 

 ৯  

(খ) 

    

(গ) 

 ৯৩ 

(ঘ) 

 ৯৯ 

     ক।  ৯  

১০৬। 

 ম   ম              ত                  ? 

(ক) 

 ৯ ২   ন 

(খ) 

 ৯     ন 

(গ) 

 ৯     ন 

https://3hourbattle.com/sq/3820
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(ঘ) 

 ৯ ২   ন 

     ঘ।  ৯ ২   ন 

১০৭। 

   ম              ম     

(ক) 

         

(খ) 

    ক       

(গ) 

         ক 

(ঘ) 

  ন   ক 

     গ।          ক 

১০৮। 

                ত          ? 

(ক) 

ক      ক     

(খ) 

     ক       

(গ) 

  , আই,    নন 

(ঘ) 

      ত   

     ক। ক      ক     

১০৯। 

       ত ত       ত             ম     ম           ত             ? 

(ক) 

https://3hourbattle.com/sq/3822
https://3hourbattle.com/sq/3823
https://3hourbattle.com/sq/3824


            

(খ) 

      ত       

(গ) 

 ন           

(ঘ) 

 জ              

     ক।             

১১০। 

                   

(ক) 

      

(খ) 

         

(গ) 

         ন  

(ঘ) 

 ন    ন  

     গ।          ন  

১১১। 

                      (   আ  আ )             

(ক) 

আ    ন 

(খ) 

   ত 

(গ) 

জ   ন 

(ঘ) 

https://3hourbattle.com/sq/3825
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  ন 

     ঘ।   ন 

১১২। 

          ত                 ? 

(ক) 

আই.   .   

(খ) 

ASEAN (আ    ন) 

(গ) 

  (WHO) 

(ঘ) 

        ক   

     খ। ASEAN (আ    ন) 

১১৩। 

                     ? 

(ক) 

ক     

(খ) 

  ক  

(গ) 

ক    ন    

(ঘ) 

ন        

     গ। ক    ন    

১১৪। 

১৯৯৫                                              ত      ? 

(ক) 

UNO 

(খ) 

https://3hourbattle.com/sq/3827
https://3hourbattle.com/sq/3828
https://3hourbattle.com/sq/3829


ASEAN 

(গ) 

NAM 

(ঘ) 

GATT 

     ক। UNO 

১১৫। 

                 ম        ম                    ত- 

(ক) 

             

(খ) 

  ন    ক         

(গ) 

          ত  ন   ত       

(ঘ) 

  ত   ক    ন        

     খ।   ন    ক         

১১৬। 

UNHCR                  ? 

(ক) 

     

(খ) 

 জ ন   

(গ) 

 ন ই   ক 

(ঘ) 

  ন 

     খ।  জ ন   

১১৭। 

https://3hourbattle.com/sq/3830
https://3hourbattle.com/sq/3831


    ত                     ত           ? 

(ক) 

   ত   জনত       

(খ) 

ক    ন        

(গ) 

  জন    জ       

(ঘ) 

ই    ন ন   ন   ক     

     ঘ। ই    ন ন   ন   ক     

১১৮। 

'Imperialism, the Highest Stage of Capitalism'               

(ক) 

  .আই.   নন 

(খ) 

        ন 

(গ) 

ক      ক     

(ঘ) 

    ন        

     ক।   .আই.   নন 

১১৯। 

     ত  আ           ? 

(ক) 

   গন  ক        ক 

(খ) 

        ন,   গ ,            জন  ক      খন     ক 

(গ) 

https://3hourbattle.com/sq/3832
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  ক, খ   ন      য গ      ত     ক 

(ঘ) 

কন       নজ     ক 

     খ।         ন,   গ ,            জন  ক      খন     ক 

১২০। 

 ম   ম                                                       ত          ? 

(ক) 

 ক           ক   ন      

(খ) 

IPCC      

(গ) 

         ক  

(ঘ) 

 ক ন  ই ন  

     গ।          ক  

১২১। 

  ত                               ত     ম      ত   ? 

(ক) 

    তকক    

(খ) 

 ক      ন    য  গ 

(গ) 

  ই     ন য  গ 

(ঘ) 

        য  গ 

     ঘ।         য  গ 

১২২। 

             ,   ,   , আ             - 

https://3hourbattle.com/sq/3835
https://3hourbattle.com/sq/3836
https://3hourbattle.com/sq/3837


(ক) 

 ন    ন    

(খ) 

   ন  ন   ন 

(গ) 

   ন     

(ঘ) 

       তন   (ক, খ   গ) 

     ঘ।        তন   (ক, খ   গ) 

১২৩। 

                          ? 

(ক) 

              জ      

(খ) 

                জ      

(গ) 

        জ      

(ঘ) 

আ         জ      

     ক।               জ      

১২৪। 

                ত                 ম       

(ক) 

        

(খ) 

     জ    

(গ) 

          

https://3hourbattle.com/sq/3838
https://3hourbattle.com/sq/3839


(ঘ) 

গ জ     

     ঘ। গ জ     

১২৫। 

আ         -                   ম      ত       ? 

(ক) 

    ন  

(খ) 

ত    

(গ) 

      

(ঘ) 

  ই   

     গ।       

১২৬। 

                        ? 

(ক) 

আ  ত  

(খ) 

       ত 

(গ) 

  ত  

(ঘ) 

         

     খ।        ত 

১২৭। 

                             '  ম        '            ত? 

(ক) 

https://3hourbattle.com/sq/3840
https://3hourbattle.com/sq/3841
https://3hourbattle.com/sq/3842


ক   ই    

(খ) 

     গ  

(গ) 

 গ    ইক 

(ঘ) 

             

     খ।      গ  

১২৮। 

'        '   ত      ম          

(ক) 

ন     ন        ক   

(খ) 

ন     ৎ       

(গ) 

                

(ঘ) 

ন       ন   

     ঘ। ন       ন   

১২৯। 

'        ম      ২০১৫-৩০'         - 

(ক) 

   য    গ      ক      ক    

(খ) 

জ    ন     ন  ক    

(গ) 

  ন       য    গ      ক      ক    

(ঘ) 

https://3hourbattle.com/sq/3843
https://3hourbattle.com/sq/3844


    ক        ক      ক    

     গ।   ন       য    গ      ক      ক    

১৩০। 

           আ         ত (hydro-meteorological)            ? 

(ক) 

    ক    

(খ) 

       

(গ) 

ন      ন 

(ঘ) 

ঘ       

     ক।     ক    

১৩১। 

            '    আ  '  ত   ত              ? 

(ক) 

    জন 

(খ) 

ক   ন   ই-   ই  

(গ) 

         ই-   ই  

(ঘ) 

ন ই    জন   ই-   ই  

     খ। ক   ন   ই-   ই  

১৩২। 

 ত ম          -                                                  ? 

(ক) 

  ই         ই        ই  ন 

https://3hourbattle.com/sq/3845
https://3hourbattle.com/sq/3846
https://3hourbattle.com/sq/3847


(খ) 

  ই         ই       ই  ন 

(গ) 

            ই  ন 

(ঘ) 

আগ  ন 

     গ।             ই  ন 

১৩৩। 

                                        ত      - 

(ক) 

গ        (Gama rays) 

(খ) 

আ        (Alpha rays) 

(গ) 

         (Beta rays) 

(ঘ) 

       (X-rays) 

     ক। গ        (Gama rays) 

১৩৪। 

                                   ত? 

(ক) 

       

(খ) 

  ই   ক     

(গ) 

 ন        

(ঘ) 

       ন    

https://3hourbattle.com/sq/3848
https://3hourbattle.com/sq/3849


     ঘ।        ন    

১৩৫। 

ম            ম   ত                              ? 

(ক) 

         

(খ) 

       ই    

(গ) 

    কন ন 

(ঘ) 

       ন 

     গ।     কন ন 

১৩৬। 

                     ম                       ? 

(ক) 

 খজ       

(খ) 

 ন       

(গ) 

  ত     

(ঘ) 

ত       

     খ।  ন       

১৩৭। 

    ম                  ত    ? 

(ক) 

        (Troposphere) 

(খ) 

https://3hourbattle.com/sq/3850
https://3hourbattle.com/sq/3851
https://3hourbattle.com/sq/3852


         (Stratosphere) 

(গ) 

         (Mesosphere) 

(ঘ) 

ত      (Troposphere) 

     ক।         (Troposphere) 

১৩৮। 

            ম              ত     ত                     ? 

(ক) 

২.০৫% 

(খ) 

০,  % 

(গ) 

০.০ % 

(ঘ) 

০.০০ % 

     খ। ০,  % 

১৩৯। 

              ম ম                  

(ক) 

    ক      

(খ) 

    ক      

(গ) 

   ক      

(ঘ) 

    ক      

     গ।    ক      

https://3hourbattle.com/sq/3853
https://3hourbattle.com/sq/3854


১৪০। 

ম                   -                    ত                               

   ত? 

(ক) 

জ     ২ ঘ            ক  ন   HBIG       ত     

(খ) 

৩০    ন          ক  ন    ত     

(গ) 

    ন ইন ক         খ ত     

(ঘ) 

জ              ক      (HBIG)       ত     

     ক। জ     ২ ঘ            ক  ন   HBIG       ত     

১৪১। 

               - 

(ক) 

House flies. 

(খ) 

Anophilies     

(গ) 

ই      ক         

(ঘ) 

Aedes aegypti     

     ঘ। Aedes aegypti     

১৪২। 

    ম              ত   ত     ত   ত   - 

(ক) 

           

(খ) 

          

https://3hourbattle.com/sq/3855
https://3hourbattle.com/sq/3855
https://3hourbattle.com/sq/3856
https://3hourbattle.com/sq/3857


(গ) 

  জ ন   

(ঘ) 

আ    ন       

     ঘ। আ    ন       

১৪৩। 

               - 

(ক) 

ক   

(খ) 

    ন    

(গ) 

         

(ঘ) 

     নক 

     গ।          

১৪৪। 

     ত                       ? 

(ক) 

ই  ন 

(খ) 

  ই    জন 

(গ) 

    ন 

(ঘ) 

    জন 

     গ।     ন 

১৪৫। 

https://3hourbattle.com/sq/3858
https://3hourbattle.com/sq/3859


                           

(ক) 

 ত  

(খ) 

           

(গ) 

গ    

(ঘ) 

ক   

     খ।            

১৪৬। 

10101111    1 's complement        ? 

(ক) 

1111 1111 

(খ) 

0101 0000 

(গ) 

0000 0000 

(ঘ) 

1100 0011 

     খ। 0101 0000 

১৪৭। 

     ম    ম আ              ত   ? 

(ক) 

    ক     ই    

(খ) 

ত     ত   

(গ) 

 ক -       ক     

https://3hourbattle.com/sq/3860
https://3hourbattle.com/sq/3861
https://3hourbattle.com/sq/3862


(ঘ) 

                

     ক।     ক     ই    

১৪৮। 

 - ম                     ত              ? 

(ক) 

POP9 

(খ) 

HTML 

(গ) 

POP3 

(ঘ) 

SMTP 

     গ। POP3 

১৪৯। 

              ? 

(ক) 

A+0= A 

(খ) 

A.1 = A 

(গ) 

A+A = 1 

(ঘ) 

A.A' = 1 

     ঘ। A.A' = 1 

১৫০। 

   word  ত              ? 

(ক) 

4 

https://3hourbattle.com/sq/3863
https://3hourbattle.com/sq/3864
https://3hourbattle.com/sq/3865


(খ) 

16 

(গ) 

8 

(ঘ) 

2 

     খ। 16 

১৫১। 

           bus     ত      ? 

(ক) 

input-read bus 

(খ) 

address bus 

(গ) 

data bus 

(ঘ) 

control bus 

     ক। input-read bus 

১৫২। 

ROM             ম    ম   ? 

(ক) 

malware 

(খ) 

virus 

(গ) 

lip - lop 

(ঘ) 

Firmware 

     ঘ। Firmware 

https://3hourbattle.com/sq/3866
https://3hourbattle.com/sq/3867


১৫৩। 

                 আ      1                    ০      ।         - 

(ক) 

AND 

(খ) 

OR 

(গ) 

NAND 

(ঘ) 

XOR 

     গ। NAND 

১৫৪। 

       ম             ম      ম? 

(ক) 

MS DOS 

(খ) 

Windows XP 

(গ) 

Windows 98 

(ঘ) 

Windows 7 

     ক। MS DOS 

১৫৫। 

          ম          ত    

(ক) 

        ই      ক   ন   ন   ক  ত 

(খ) 

  ই          জন য 

(গ) 

https://3hourbattle.com/sq/3868
https://3hourbattle.com/sq/3869
https://3hourbattle.com/sq/3870


খ                    ক  ত 

(ঘ) 

          ক ত 

     ক।         ই      ক   ন   ন   ক  ত 

১৫৬। 

            ত     -            ? 

(ক) 

ekhanei.com 

(খ) 

olx.com 

(গ) 

amazon.com 

(ঘ) 

google.com 

     ঘ। google.com 

১৫৭। 

                 OSI ম              ? 

(ক) 

5 

(খ) 

7 

(গ) 

8 

(ঘ) 

9 

     খ। 7 

১৫৮। 

                                                      ত    ? 

(ক) 

https://3hourbattle.com/sq/3871
https://3hourbattle.com/sq/3872
https://3hourbattle.com/sq/3873


Novel network 

(খ) 

Net BEUI 

(গ) 

TCP/IP 

(ঘ) 

Linux 

     গ। TCP/IP 

১৫৯। 

            - ম                      ? 

(ক) 

@ 

(খ) 

# 

(গ) 

& 

(ঘ) 

$ 

     ক। @ 

১৬০। 

               ম          ? 

(ক) 

     ক 

(খ) 

  ই    

(গ) 

 ই ক       

(ঘ) 

   ক  ইন 

https://3hourbattle.com/sq/3874
https://3hourbattle.com/sq/3875


     গ।  ই ক       

১৬১। 

    A = {x: x Fibonacct           x < 64}    , P(A)               ? 

(ক) 

128 

(খ) 

64 

(গ) 

256 

(ঘ) 

32 

     ঘ। 32 

১৬২। 

4    ম       6           ম        4                  -  ম          ত     

   ত ১                           ত      ।  ত           ম                

     ? 

(ক) 

304 

(খ) 

84 

(গ) 

210 

(ঘ) 

120 

     খ। 84 

১৬৩। 

30      40                                   মত                  ম          

5       ত                ত? 

(ক) 

1/2 

https://3hourbattle.com/sq/3876
https://3hourbattle.com/sq/3877
https://3hourbattle.com/sq/3877
https://3hourbattle.com/sq/3877
https://3hourbattle.com/sq/3878
https://3hourbattle.com/sq/3878


(খ) 

3/5 

(গ) 

5/11 

(ঘ) 

6/11 

     গ। 5/11 

১৬৪। 

      5   ম                12%   ত   । 10%        ত                     

   ত    ? 

(ক) 

4    

(খ) 

3    

(গ) 

2    

(ঘ) 

 ক ন  ই ন  

     ক। 4    

১৬৫। 

                 ত 2:3      ,   ,  , 4                    ত? 

(ক) 

6 

(খ) 

8 

(গ) 

12 

(ঘ) 

16 
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     গ। 12 

১৬৬। 

     আ   ৩      ম      আ    ৫৫০০        , ম      আ     ৩/৮         

ম            ত? 

(ক) 

10% 

(খ) 

12.5% 

(গ) 

15% 

(ঘ) 

12% 

     খ। 12.5% 

১৬৭। 

 ম       ত         12%     , 58%                  720000/-       ম     

     । ত          ম   ম     ত? 

(ক) 

2000000   ক  

(খ) 

1600000   ক  

(গ) 

1200000   ক  

(ঘ) 

2400000   ক  

     ঘ। 2400000   ক  

১৬৮। 

x= √3 + √2    , x3 + 1/x3    ম    ত? 

(ক) 

18√3 

(খ) 
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24√3 

(গ) 

12√3 

(ঘ) 

8 

     খ। 24√3 

১৬৯। 

logx(1/8) = -2    , x =  ত? 

(ক) 

√2 

(খ) 

2√2 

(গ) 

4 

(ঘ) 

2 

     গ। 4 

১৭০। 

2x + 21-x = 3    , x = ত? 

(ক) 

(0,2) 

(খ) 

(1,3) 

(গ) 

(0,1) 

(ঘ) 

(1,2) 

     গ। (0,1) 

১৭১। 
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            |2x-3|≤ 1   মত      ম     

(ক) 

1 < x < 2 

(খ) 

x ≤1      x < 2 

(গ) 

-x < 1 < 2 

(ঘ) 

1 ≤x ≤2 

     ঘ। 1 ≤x ≤2 

১৭২। 

      ম         ম 5ম      18       ম 5               75       ম      

 ত? 

(ক) 

10 

(খ) 

12 

(গ) 

4 

(ঘ) 

2 

     খ। 12 

১৭৩। 

 ম                          a    ত            - 

(ক) 

√3/4 a² 

(খ) 

2/√3 a² 

(গ) 

√3/2 a² 
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(ঘ) 

2/3 a² 

     ক। √3/4 a² 

১৭৪। 

            ম   ত               ম              ম  ।         ম    ত? 

(ক) 

25° 

(খ) 

60° 

(গ) 

45° 

(ঘ) 

30° 

     ঘ। 30° 

১৭৫। 

      ABC   <B = 90°,     BC = 2AB    ত  ,    <C    ম    ত? 

(ক) 

450 

(খ) 

600 

(গ) 

300 

(ঘ) 

22.50 

     গ। 300 

১৭৬। 

'RAPIS'             ত                                     ? 

(ক) 

 ক        
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(খ) 

 ক       

(গ) 

 ক       

(ঘ) 

 ক        গ  

     খ।  ক       

১৭৭। 

         ত  ? 

(ক) 

       

(খ) 

জ  

(গ) 

       

(ঘ) 

আক   

     ঘ। আক   

১৭৮। 

১      ১০০             ম           - 

(ক) 

৪৯৯৯ 

(খ) 

৫০০  

(গ) 

৫০৫০ 

(ঘ) 

৫৫০  
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     গ। ৫০৫০ 

১৭৯। 

আ  ম                             , ত    ত      আ                  ? 

(ক) 

       

(খ) 

        

(গ) 

     ত    

(ঘ) 

  ন    

     ক।        

১৮০। 

১৯৯৪       ১             ত        ১৯৯৫           ত               ? 

(ক) 

      

(খ) 

  ন     

(গ) 

     ত    

(ঘ) 

        

     ক।       

১৮১। 

 

(ক) 
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৯  

(খ) 

  ৪ 

(গ) 

 ৯  

(ঘ) 

 ৩  

     খ।   ৪ 

১৮২। 

UNFARE      আ           ত                 

(ক) 

ЯЯАЧИU 

(খ) 

AЯƎUИᖷ 

(গ) 

ƎЯAᖷИU 

(ঘ) 

ƎUИᖷAЯ 

     গ। ƎЯAᖷИU 

১৮৩। 

The novelist has a hold of ---- in writing . 

(ক) 

style 

(খ) 

tradition 

(গ) 

history 

(ঘ) 

manner 
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     ক। style 

১৮৪। 

                                   ১-২-৫-১০-১৩-২৬-২৯ -৪৮ 

(ক) 

  

(খ) 

 ০ 

(গ) 

২৯ 

(ঘ) 

৪  

     ঘ। ৪  

১৮৫। 

             ম               

(ক) 

  ন 

(খ) 

ত    

(গ) 

  ত  

(ঘ) 

      

     গ।   ত  

১৮৬। 

                    ? JD-KF-?-PM-TR 

(ক) 

NJ 

(খ) 

MI 
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(গ) 

NI 

(ঘ) 

OJ 

     খ। MI 

১৮৭। 

                       ৮         ত     ।   ম                ১২        ত 

    ।   ত                     ত         ত      ? 

(ক) 

২৪    ন 

(খ) 

২৫    ন 

(গ) 

২০    ন 

(ঘ) 

৩০    ন 

     ক। ২৪    ন 

১৮৮। 

                 ত                       ত         ?  

(ক) 

 : ৫ 

(খ) 

 :২০ 

(গ) 

 :৪০ 
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(ঘ) 

 :৪০ 

     খ।  :২০ 

১৮৯। 

              ম              

(ক) 

২ ৩ 

(খ) 

২৩৩ 

(গ) 

২৫৩ 

(ঘ) 

২৪  

     গ। ২৫৩ 

১৯০। 

                          A                ১২        ম                     

           ৫        ম                 ।              A             ত      

     ? 

(ক) 

 ৩  ক.   . 

(খ) 

    ক.   . 

(গ) 

 ৫  ক.   . 

(ঘ) 

 ৪  ক,   . 

     ক।  ৩  ক.   . 

১৯১। 

        ম  (Golden Mean)      
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(ক) 

          ক     গ  

(খ) 

     জ          ন   - ক  ক     ক 

(গ) 

 ক       ন      নক       ন   

(ঘ) 

                  ত       

     ঘ।                   ত       

১৯২। 

                     (UNDP)                 ত      ? 

(ক) 

 ৯৯৫ 

(খ) 

 ৯৯৯ 

(গ) 

 ৯৯  

(ঘ) 

 ৯৯  

     ঘ।  ৯৯  

১৯৩। 

                               ত ত       - 

(ক) 

  ত   

(খ) 

   জন ন 

(গ) 

 ক  ই ন  
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(ঘ) 

 ক ন  ক   

     গ।  ক  ই ন  

১৯৪। 

           ত               - 

(ক) 

কত           ক 

(খ) 

আই ন          ক 

(গ) 

                   ক 

(ঘ) 

      ন          ক 

     গ।                    ক 

১৯৫। 

                 ত              ত        ত     ? 

(ক) 

       

(খ) 

  ত  

(গ) 

জ       ত  

(ঘ) 

         ত  

     খ।   ত  

১৯৬। 

                                                      ? 

(ক) 
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   ন           ন     ন 

(খ) 

   ন              ন 

(গ) 

   ন              ন 

(ঘ) 

   ন            ন তক    ন       

     খ।    ন              ন 

১৯৭। 

                               ? 

(ক) 

 ন তক    ন 

(খ) 

       

(গ) 

  ত  

(ঘ) 

জ       ত  

     ক।  ন তক    ন 

১৯৮। 

                  ত           ? 

(ক) 

 ত ক 

(খ) 

  ষ  

(গ) 

আইন 

(ঘ) 
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     গ। আইন 

১৯৯। 

     ম     ম                         ? 

(ক) 

   ক ন য        

(খ) 

  ন   

(গ) 

জ    ন 

(ঘ) 

য    জ য 

     ঘ। য    জ য 

২০০। 

ম                  - 

(ক) 

       ন   

(খ) 

ন       ন    

(গ) 

 ন তকত      ন তকত  

(ঘ) 

             

     ঘ। 
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